T o e

4535=6354-
O x 264 =

3848 + 26 =
40x9 =
7.6+12.94 =

Write 130 in Roman Numerals

/x_ =56
112 +7 =

Round 0.5 to the nearest
whole number =

Find 10% of 700 =

8735=10543-
9 x 653 =

4862 + 26 =

40x 0.9 =
13.85+21.6 =

Write 158 in Roman Numerals

9x =63
175+ 7 =

Round 4.79 to the nearest
whole number =

Find 30% of 700 =

12542 = 14642 -
9x982 =

5668 + 26 =

0.04 x 90 =

35.094 + 26.89 =

Write 987 in Roman Numerals

/7x__ =84
609 +7 =

Round 16.88 to the nearest
whole number =

Find 35% of 700 =



4535 = 6354 - 1819
9x264=2376
3848 + 26 =148

40 x 9 = 360
7.6+12.94=20.54

Write 130 in Roman Numerals

7 x8=56
112 +7=16

Round 0.5 to the nearest
whole number =1

Find 10% of 700 = 70

8735 =10543 - 1808
9 x 653 = 5877

4862 +~ 26 = 187
40x 0.9 =36

13.85 +21.6 =35.45

Write 158 in Roman Numerals

9x7=63
175+7 =25

Round 4.79 to the nearest
whole number =5

Find 30% of 700 = 210

12542 = 14642 - 2100

9 x 982 = 8338

5668 + 26 =218
0.04x90=3.6

35.094 + 26.89 = 61.984

Write 987 in Roman Numerals

/x12=84
609 + 7 = 87

Round 16.88 to the nearest
whole number =17

Find 35% of 700 = 245



